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1. Consider the following statements : (b} steadfast passion in placing
1. The Planning Commission of the power and discipline of
India in its environment science in the hands of farmers
performance report, released {c} passionate commitment as a
on 26th July, 2012, ranked journalist to restore the rural
Himachal Pradesh as top poor to India’s consciousness,
State in the country on moving the nation to action
environmental performance
index. {d) convincing validation of free
2. The World Bank approved an and fa.lr clections  as thef
1100 crore rupees loan for foundation and best' hope.o
. secular democracy in strife-
Himachal Pradesh to promote torn India
green initiatives and sustain-
able development in the State.
Which of the statements given 4. Which amoeng the foll.ox.ang
above is/are correct? statements abo.ut. .the acquisition
of wireless division of WPCS
fa) 1 only International by a Bengaluru-based
(b) 2 only Indian firm Kavveri Telecom in
July 2012 is/are correct?
(¢) Both 1 and 2 1. WPCS International has heen
(d) Neither 1 nor 2 into the business of wireless
communication making
2. India signed an agreement to avoid solutions used by the police
double taxation and prevent fiscal officers, firemen and other
evasion with respect to taxes on emergency services.
income on 27th July, 2012 with 5 Kawveri Telecom makes
{a) Japan cellphone tower antennas,
(b) Indonesia radio frequency (RF)
components, repeaters and
fe) Sweden other telecom products.
(d) Bangladesh 3. WPCS International is a
London-based firm.
3. India’s Kulandei Francis was
awarded the year 2012 Ramon Select the correct answer using the

Magsaysay Award for his

{a) visionary zeal and profound
faith in community energies
and his sustained programmes
in pursuing the holistic
economic empowerment of
women and their families
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code given below.

fa) 1,2 and 3
fb} 1 and 2 only
fe) 2 and 3 only
{d) 1 only
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1. FAfafEa su o fa=r fifsw .

1. 97 & A FEE 4 26 TR,
2012 F uyHfsE st wEam
froqrge fdid O fome wewm w
RRICn RECHICE R G i T T
Fif2 F 79 T 2+ e

2. fam 9% 3 feumw ww ¥ fom
1100 g ¥92 &1 0 T=% ° gi|
ITEY 3N uneflm faem =
TeTE 9 o fofe srgeifed feam

3ot el o W BT /8wl 2/30
(@) Fad 1

(b) Fae 2

c) 1 3R 2gH

(d) T 1A 2

2, WY W OFN F =AY N AR FOUE F

uftasia et el aaed # UFd &
o oumg 3 50 2T % WY T I W
27 JE, 2012 F BEER fRu

fa) =9

(bj ZerRfImE

fc) A

(d) =T

3. T & FAME WEE & 2012 F WH

e e frafan yem e e

(o) anEfe wieal & 3% el
ZFATE U Tgd ITE @ mfgenad
Td 3% yiEnl & meegardt anfds
qufrR 3G 3% WA FEFEY F
fem
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(b FREE # fawE i owfE s e

fem

(c) TE F FEAVEE Fq gu md
fd ) wmm & S 4 oG
TEE B % fdU wEER 'Y

(d) wad-fazifre amg 8@ vulme dewas
&l ffa oft galeFy s F w9 4
i ud fwe FateEt % 39w

4, FTgE fem wndin sygnm gfagm #=Ed

Jeffeel g JEE 2012 # WPCS

g afataa wa= 8 4 f19-31/4

wel g /a7

1. WPCS TivAE «dW =i #F
=FEEg § @ 2, 9% a9 @ae
ST 2
e smafa (RF) s199a, gAuads
Ud 9 TAEE IR AT R

3. WPCS 3&HYAel UF wad e
sygar ufaee 2|

I fw T oF w WM oW wE I
Hfau

@) 1,2 4N 3

(b) #EA 1 3 2

fc) wad 2 ok 3

(d) a1 o
S
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5. Facing the east R walks straight

4 km, turns left and walks 3 km
and again turns left and walks
4 km. How far is R now from the

9. Three dice, whose all six faces arc

marked ‘1’ to ‘6’, are thrown. The

number of ways of getting a sum
of 16 is

starting point?

a 3
fa) 2 km (@
{b) 3 km {b) 4
{c) 10 km ) 6
(d 11 km @ 12
6. Which of the following is the odd
one? 10. The constitutional principle of the
‘Basic Structure’ was invented by
fa) 31
the
{b) 41
{a) Executive
{c) 51
{d) 61 (b) Judiciary

. (c) Legislature
7. The missing number in the box

{cl) Civil Society
3 7 52

11 | 126

11. Consider the following statemerts

? 9 | 107 about Parliamentary Committees :

is 1. They are a subset of Council
of Ministers.
(a) 6 .
2. The scrutiny of Legislative and
(b) 18 Constitutional Amendment
{c) 26 Bills gets done in these
Comimittees.
[d) 36 om

Which of the statements given

8. The average of x, y and z is 30, above is/are correct?

and the average of x and yis 20.
What is the value of z?

{a) 1 only
fa) 10
{b) 2 only
(b) 20
[c) 40 {f¢) Both 1 and 2
{cf) 50 (d) Neither 1 nor 2
o\
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5. 7d & AW gz FH R W 4 fro i
=eal 3, arfl @ gear 2 o 3 fro die
FIEd B, A TR oA aw gz
4 fge Hle T@m 21 ywfewE fag 9 R
e foadfl gft w2y

(a) 2 fwe o

(b} 3 fFe dto

fc) 10 o Ho

{d) 11 o Hie

6. fmafafiaa § 4 #R-w1 v, 3w @ g

27

fa) 31

(b) 41

c) 51

d) 61

7. {9 foy T gt § gR dEm e R7

317 |52

11 | 126

? | 9 | 107
fa) 6
(b) 18
c) 26
(d) 36

8. x, y ¥R z & 3f|T 30 & aW x 3y H
3|d 20 B\ z 1 AW F 7

fa) 10
fb) 20
{fcj 40
{d) 50
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9. @4 uw, o7 wft 3 wa ‘17 °§ ‘6" a%

10.

wifwa 78 ™8 2, ek ) e 16 T
= TOFT F1 gz w1 27

faj 3
(b) 4
cj 6

fdj 12

AR er st fagra fas

48 e gr antrega 27
fa) FHUTFT
{b) IR
fc) Tawnfa

(d) Tafaa gu=

11. dwdm wiafaal & ded § frafafae wum

R fa=m #ifaw
1. 3 AfF-qiEg % 30-ug=1 2|

2. Taurdt v wifafs geee R
#1 wefan 34 diifadi 8§ A el 2

30T FAAT H H FA-A/E T R/RT
fa) FIA 1

(b) FHaA 2

fe) 132z

fd) I 13mMIT 2.,
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12. Consider the following statements

about Indian elections :

1.  The Constitution provides that
elections to the House of the
People and the Legislative
Assemblies of States are to be
held on the basis of universal
adult suffrage.

2. The Constitution stipulates
that there will be separate
electoral roils for Parliamentary
and State Assembly elections.

Which of the statements given
above is/are correct?

15. A television remote uses
fa) infrared waves
{b) cosmic waves
{c) microwaves

{d) ether waves

16. A microwave oven uses wave with a

fa) large wavelength in the
invisible range

{b) small wavelength in the visible

range

fa) 1 only

{b) 2 only fc) large wavelength in the visible
{fc) Both 1 and 2 range

fd) Neither 1 nor 2 (d) small wavelength in the

. . invisible range
13. Consider the following statements

about the Indian Constitution :

17. A thin pin of iron can he made to
float on water (drinking) in a bowl,
This phenomenon is due to the

1. In addition to the structure of
the Government, it has also
concerned itself with some
aspects of a desirable civil (@) surface tension of water

society and economy.

2. Through amendments in the (b} viscous nature of water

year 1976, it has also outlined (c) presence of ionic bonds in
the fundamental duties of
citizens along with their rights.

water molecules

fd) presence of covalent bonds in

Which of the statements given
water molecules

above is/are correct?

fa) 1 only

{b}) 2 only 18. To start your loaded trolley bag, you
fc¢) Both 1 and 2 exert more force than when it is
{d) Neither 1 nor 2 moving. This is an example of

first la f th od ic
14. Wi-Fi in a computer implies (a) first law of thermodynamics

fa) wired local area network fb) second law of thermodynamics
{b) wireless local area network

() high fidelity fc) Newton's second law of motion

{d) high efficiency (d) Newton’s{irst law of motion
/—\— -
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12. g # fai=di & wed 4 faafafae st

7 fa=m $ifqu .

1. dfaym Iusy Fa  fF & 5w
st et &t faym gwisd & fom
fatm adSs g maiter %
ST W FAT0 S 2

2. dfaum sgey = ? fF g e
usg faym gw & fef=E % foo
=T |

Iue el B § wE-11/8 we 3/87

@) FHad 1

(b) FaA 2

fe) 1 3R 22t

fdy dd13mIdE2

13. ¥Td & wfyE F gesl ° frafafag st
. faan fifim
1. &R F g+ & @, 98 Jaedd
fafas wv9 oft sfemawn & 9
TR o ot AT w2

2. ®1 1976 H §U HMEA! & FRT 64
TRt F AfET & WS-y 316
el =t A oft woE R

IR HAA A W BE-G/E A /R

(a) Fad 1

(b) HaA 2

c) 1 32z

{d) Fd 1 dATE 2

14. w4 Wi-Fi #1 fafgad = 27
fa) AEG THHE &F AT
fb) afEd T &3 W

(c) 3 T
(d) ¥ <age
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15. cftfasm s - waim = &

fa) AT Al
(b) afiey @
(c) TFF aC
(d) Fe A

16. §&H-T0T 3E4 FE TFR & @ w0 wEm

w1 R?

() ¥1gwa ufte & i gt areft
gl

(b) 5Td St & oy e arefi @mn
Eal

{c) 778 uftem &1 9 Fiewd Jel @
el

(d) 7573 9K i @Y qureed anefl wm
EQl

17. UF FR 0 F (W) & FW g H1 0%

udel! T =1 8T S "l @ | " uiEE
g =rm @ 3t 27

fa) T % B GG F FH0I

(b) A% VE T=AE F HT

fc) S F A A A s Al
Iufeufs + wrm

(d) & @ I H qEEAS e Al
Ifeyfg % &

18. 394 W@ Zichl &7 & I IE F4

fou, sl 3@ =@ Fi oaoen wivww =4
AR H emar 81 48 Fafafaa d @
ToraeRT U 3TE 7

(a) FERETleht 1 wH fEm

(b) IR 1 FaeE fem

(c) a2 #1 fgdva nfafrag

(d) A = quw THER
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19, You placed a car in an open parking
area in a summer day. After a few
hours, you noticed that the heat
is trapped inside the car. This
phenomenon is known as

fa) ozone depletion
{b) greenhouse effect
{c) solar effect

fd} cosmic ray impingement

20. Which one among the following
Princely States opted for a direct
dealing with the Constituent
Assembly in the year 1946 instead
of through the Chamber of Princes?

{a} Baroda

(b) Travancore
fcj Junagadh
(d) Mysore

21. Sayana, the famous commentator
of the Vedas, flourished under the
rule of

fa) Bahmani kings
fb) Golkonda kings
fc/ Gajapati kings
{d) Vijayanagar kings
22. The Bandagan-i-Khas during the rule
of Delhi Sultans referred to the
fa) innkeepers
{b) royal slaves
{c) Dak-carriers

{d) guards of the State stable

Q-DQG-M-HBJ/35A
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23. Who among the following was

described as Jagadguru by his
subjects for his patronage of the
Hindus in his State?

fa) Ibrahim Adil Shah I1 of Bijapur
(b} Mahmud II of Malwa

fc) Husain Shah of Bengal

(d) Mahmud Begara of Gujarat

24. Vidyapati Thakur, a contemporary of

Chandidas (end of 14th century to
early 15th century}, was a native of

{a] Bengal
() Mithila
{¢) Malwa

(d) Kashmir

25. Whenever a tropical cyclone moves

to tand, much of its severity is
reduced. This is because

1. its source of moisture is cut off

2. the friction over land kills
tropical cyclones

Select the correct answer using the
code given below.

{a) 1 only

{b) 2 only

fc¢¢ Both 1 and 2
fd) Neither—1 gior 2

B\

P
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19. i # fe ° 3 s w1 F TF gl g
T 43 0 T R FE e % AR, w@wm
yfrzan fag 9m @ ol ot 27

fa) ATSH AT
(by U YW
fe) N OVE
(d) sTafe fFrm wmaga
20. Frfafga 4 8 $R-w st 1w =
1946 4 Bfagm a9 & gy @l s

g7

(a) =T
(b)  FATAERT
(c) ST
(d) T
21. 48 F wAE  HEEw A@Ew, TR
(@) =TEHAT =T
(b} TIEAFITZT T
f¢) AT T
(d) T e
22. &gl gaadl & woTse 3 T=e-u-
e frw fafde @ on?
{a) W&
(bj TN TAH
(c) ETH-TTH

(d) TI¥ FEdFA * YR
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23. frfafes 4 & fR, amd oo 3 femgsi
# W WA F fou, Imh v o
SR FEL A ShET T An?

faj =g =1 gETen sfea wE fed
(b) WAl F Hege fgera
(c) TN H FHA TR

(d) TR F1 HEHE A
24. J€RM F wiEelT fmmwf s (14

ATl F d- 159 Tl w1 wHH) wEl
# o framdt 47

faj =MA
(b) Tefaen
fc) T
(d) FEHE
25. V-3 IOTR{CFHT TwaT qfE H AR

dear 2, @ I9E AW IwE F4 A
ATl B | FHFT I FW0 27

1. TEH ATEAI 1 G Fe AT 21

2. off & Im adu  swrEiEEfE
FATE FI TE FL oA B4

A= Ty U g oW v oW Ed I
EEL

(@) FFH 1

(b) AT 2

fcj 13 2IEl

(d) F@1IWAA2
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26. Match List-I with List-1 and select
the correct answer using the code
given below the Lists :

List-I List-II
{Delta) {Example)
A. Arcuate delta 1. Nile Delta
B. Bird’s-foot delta 2. Mississippi Delta
C. Cuspate delta 3. Tiber Delta
D. Estuarine deita 4. Seine Delta
Code :
fa) A B C D
1 3 2 4
() A B C D
4 3 2 1
fe) A B C D
4 2 3 1
fd) A B C D
1 2 3 4

27. Which one among the following is a
dormant volcano?

fa) Mount Kilimanjaro
(b} Mount Stromboli
f¢) Mount Etna

{d) Mount Mayon

28. Asteroid belt is situated between
(a) Mars and Jupiter
(b} Earth and Mars
{c) Jupiter and Saturn

{d) Venus and Earth

Q-DQG-M-HBJ/35A 10

29. Who among the following was chosen
by the Government of Japan to
confer the prestigious Fukuoka
Prize for the year 20127

fa) Vandana Shiva
(b) Amir Khan

fc) Arundhati Roy
{dj Medha Patkar

30. In a major policy decision, the
Central Government has recently
decided to allow Qualified Fereign
Investors (QFIs] to directly invest

in Indian equity market. India
received her first investment
through Qualified Framework
Investor Route worth $ 5m

following the deal struck by
faj Unit Trust of India

{8} Kotak Mahindra Bank

fej Tata Consultancy Services

{d} Reliance Energy

31. Which one among the following
statements about eminent freedom
fighter and social activist Captain
Lakshmi Sehgal, who passed away
in Kanpur on 23rd July, 2012, is
not correct?

faj She was a close aide of
Subhash Chandra Bose during
the days of freedom movement

(b) She spearheaded
political, economic and social
justice campaigns in the
country

fc) She was a member of the Lok
Sabha

{d) She was awarded the Padma
Vibhushan -
- _ _ _ -
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26. -1 B FEH-II § Ao Fifsw ek
i # 99 fuom R W owEm v

Wﬂ'\:—{‘l
-1 -1
(ge=a) (ZaTETOT)
A, FIERR 2ol 1. #F 2o
B. waf-gs1 2= 2. Tufgfaed gea
C. madf gea 3. ITEH =0
D. AR 3e2 4. W T
*T
la) A B C D
1 3 2 4
b) A B C D
4 3 2 1
) A B C D
4 2 3 1
) A B C D
1 2 3 4

27. fwifataa 4 @ ®#9-71 v wge =wnE!
27

() w13z Twfengsmy
(b) HATIZ !
c) HTSE T
(d) WT3T BEA

28. URA-HgY #ee HEl TUd 87
() wTE iR Fewfd & d=
(b) et 3R TS %
(c) Fewarq iR w7 & &=
(d) I $R gt & &g
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29, F9R i WHFR g 2Ad 4 R 3 2012

feu =1 mem o

(a) #E1 foman
(b) =T @H
fc) Bl TR

() T UTEEL

30. ug w2 difores fofa 4, #m v 3 g

& ¥ gmrar-um f9Eeh fEwe (QFIs) &1
aar 3fed A |0 yeme fEm e A
sigafd &4 &1 Tl fen ) ume 3 s
30 TRu U AR & e, APEE-WTH EiEn
v vt 4 $ 5m gEm #1 WO Tl
= wrw fran?

(o) Iz T= A% e

(b) FITE AEZ 9F

{c) =71 FH-SH AfAEA

{d) Temrg usf

31. YEa w@dad T wd A FwriEat

o @sHl weEd % AW §, e ® R

4 23 9aE, 2012 # fmoogem

frafofias § @ =F-a ws $291 48 7@

2?

(a) 3 FIEEA AEEH & A § g

(b) TEM Tw W e usife, b
N wlsE Am % abmEe f)
s

fc) @ T BT F1 meEn off

(d) 32 7% fayum |8 wenfa P omn
o
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32. Which of the following statements Directions :
about London Olympics, 2012

is /are correct? The following two (2) items are based on
1 O :

the given pie-chart which shows the annual
1. London got a distinction to agricultural yield of a certain place :
host the modern Olympic
Games three times. The city
had previously hosted the
Games in 1908 and in 1948,

Others

Su ;
100° garcane

80°

2.  Motto of the London Olympics
is ‘Inspire a Generation’.

Wheat
60°

3. Saina Nehwal was the official
flag  bearer of 83-member

Indian contingent at the 34. The yield of rice is how much percent
opening ceremony of the more than that of sugarcane?
London Olympics. {fa) 40%
o
Select the correct answer using the b)  S0%
code given below. fc} ©60%
(d) 75%
{fa) 1 only
35. If the yield of rice and wheat is
(b) 2 only G000 tons, then the yield of excess
product of others in comparison
() 1 and 2 only with sugarcane Is

{a) 1000 tons
(b) 2000 tons

{ci 3000 tons
33. An accurate clock shows 12 o'clock (d} 4000 tons
in the noon. Through how many
degrees will the hour hand rotate
when the clock shows 5 o’clock on

the same evening?

(d) 1, 2 and 3

36. The World Conference on Human
Rights that affirmed the universality
of rights and launched an

(@) 150° ambitious plan of action was
a

held in
(bj 140° (aj Vienna (1993)
(b) Geneva (1996)
(c) 125°

(¢ New York (2000)

{dj 120° (d) Berlinﬁ{ﬁ? )
Zj’ \4:‘

—

/—\' -
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32. weq wfafrr, 2012 % a0 § ferfufag 3w .

i F3-11/8 w99 /8T frafefma 2t (2) s fau M ogm d@fa w
A9 an geEr wd F afqE um et &
# W T@ T TEet 1908 H ¥
1948 ® 31 @Sl Fl Teradl 1 41
B i 91 S

3. WA YEAW oied eTfafreeE
3gHEA WARRE § 83-Haela aidm

3HE) T sTiumiE waearEE 9|
SR I U G 34, AT F I W F 397 | fwad wlawm
el fir 27
40%,
fa) Fad 1 (@
(bj 50%
) i 2 fc) 60%
(d) 75%
fc) e 1 3 2 35. afz =mEe s 1E # 399 0000 = 7, A&
T # ga H sl i st 3ue e
@ 1,233 27
fa) 1000 =
33. tw ud 9E memg A 12 W F AEY (b} 2000 =
Zaid 31 € W F 5 99 @ a9 S (c) 3000 =
+ fou wft ft w2 A g frad fah (d) 4000 Z2
T ?

36, orE sfywEml W fawm wyes, e
s £ wrehifmwar # higfe @

{fa) 150° AN HgeThiafl FRiENAT H oA g,
#al wrEfaa gy
e faj fon (1993)
() 125° {b) A1 (1996)
{c) —IF* (2000)
(d) 120° fe) == ( 20027
N
o W quEstionpgnerz.in




37. Which one among the following 39. Overseas citizens of India (as per

statements about the  States Overseas Citizenship of India
Reorganization Act is not correct? Scheme as operational from
December 2005) shall not be
fa) The Act dealt with the issue of entitled to
redrawing of the boundaries
of States

{a) multiple entry, multipurpose

lifelong visa to India
{b) 1t was passed in the year 1956

fc) It created fourteen States and {b) exemption f{rom reporting to
six Union Territories pelice  authorities for any
length of stay in India

{d}) The State boundaries were
drawn for administrative

) (c) parity with NRI's in financial,
convenience

economic and  educational
fields except in the question
of agricultural or plantation
38. Consider the following territories properties

which became part of India after

15th August, 1947 .
{d} wvoting rights in India
1. Goa, Daman and Diu

2. Pondicherry

3 Sikkim 40, In the recent past, a fundamental
particle has been claimed to be

4.  Dadra and Nagar Haveli experimentally observed, at a
European Laboratory in Geneva, to

Which of the following is the correct travel at a speed greater than that

chronological order (beginning with of light in vacuum. The name of the

the earliest) of their becoming part particle is

of India?

{a} electron

{a) 1-2-3-4
{b} positron
(b) 3-1-4-2
fc) 4-1-2-3 fc) neutron
(d) 2-1-4-3 {d) neutrino ='N_ =
H -
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37. T g¥ie wfufms % an 8 frefafae § 39. wrd # faEwh amfee (Fmwm 2005 4
T FH-T UF wA Gl g 27 uttETiera s i faeft amfera =
qEd) EhaTL TET Tl

(a) fufray =1 gy gsat S dimai
#F1 TR | taTeT & F) gEEn 9 o R ——
(b) T8 |1 1956 H WIlLd g7 o1

A | R oft ol /@ty ae @
& oo gfem wiftefat & oapd
Iuferd B 0 gz &

) T dmE T R B g Teadd (b)
1 g foran

(d) T=4 i dWR gIEHE glaa ®
fou off<h é (c) Toefrw, enffe ofm 9fars et o
foar w1 ame wtwE F o
F NRI & 919 GHHEAT #
38. f=fafgas o=l w fa=m $ifae, <
15 T, 1947 % 91 94 % T

e (d) ¥ ¥ gdeE & wfuFr &
1. T, 7 U 73
2. Ui-gEd . . :
40. ot g |, S | 0 dEned |, ve

S U A FO F OTANIEHE D& F] @rAl
4, TR UE TN g farar 2, St s ° e A1 A H

Ie Al I W OAAA & IF 0
frafafae 4 @ #F-m 97 ad wenmEd = wqRY
(w98 9ga | yE w0 o) B, foed A
wiE = fge w7

(aj T
(a) 1-2-3-4

(b) TitwgH
(b} 3-1-4-2
(c) 4-1-2-3 fe) =M
{dj 2-1-4-3 {d) g@—_ﬁ - ,

/—\— -
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41, When an iron nail is dipped in a 44. Which one among the following is

solution of copper sulphate, the not a greenhouse gas?
iron mnail becomes brownish in

colour and the blue colour of fa) Methane

copper sulphate solution fades after

some time. The reaction is an (b) Ozone

example of chemical (c) Chlorofluorocarben

{a) combination (d) Sulphur dioxide

(b} decomposition
45, Which one among the following salts
(c) displacement causes hardness to the water?

(d) double displacement (@) Calcium bicarbonate

{b) Calcium carbenate
42, Bleaching powder is added in water

used for drinking purpose. The role fe)
of bleaching powder in this case is

Sodium sulphate

(d) Potassium chloride

fa) of disinfectant

46. Consider the following statements

(b) of bleaching agent about Rig Veda :

(c/ to remove impurity 1. It reflects a mnaturalistic
polytheism—a belief in many

(d) to decrease the pH Gods who personified natural
phenomenon.

2. The Gods were conceived of
as anthropomorphic, ie., as
having a physical form similar
to that of humans.

43, If four balloons A, B, C and D are
filled with hydrogen, oxygen,
helium and nitrogen gases
respectively and left in air, which
balloon reaches to the highest Which of the statements given
distance from the Earth? above is/are correct?

(a) Balloon A

fa) 1 only
fb} Balloon B (b) 2 only
fc) Balloon C ¢/ Both 1 and 2
{d) Balloon D (d) Neither-1l gor 2 )
SN
0-DOG-M -HBJ /354 16 Www._guestionpaperz.in

UnNnfFold Every Question



41, = T @R Fl F1d F #0 g5 & 9

¥ gam SIar &, @ @R FoAla #:oam
[l O G L L = A 1
FIW Aohe o Oldd 1 dfel T Fh qg
1 21 7% itufen frae emm 27
(a) TEEF ga2

{b) THIMSF 3752

{c) Trarats fawerm

(d) Tt fafavas

42, 9 F 3@ @ @i § 9@ IW 9@ w9 §

fatsrE-ot foeen sman 21 @ ume #
fortreh ot =1 wfiem = 27

(o) TTIOETER <
(b) TSR FHw H
(c) 3G I FFred

(d) pH ¥2H i

43. 3 9w TEW A, B, C 3N D F wAW:

eggieH, JaisH, #iferm 3 Arggem
o/ W w4 wig fem s, @
FH-T T et W osTiieam ght e
REE U

(a) T=MT A

(b} T=MI B

(c) T=maC

(d) T=H D

Q-DQG-M-HBJ/35A 17

44. tafafga & 4 FR-df = dumr g ad#
27

fa) faem
(b) A
fc) RGN

(d) TEE SIS

45, Getafigd O & FA-T ©F @, S« 0
F3NAT T FOOT 27

{a) Ffcaan MgwEE-E
(b) hfcEIAN HrETe
(c) difsmm "ohe
(@) mefim FUsE

46. Fes & an H frefafgd wudi w fa=m
#ifsr -
1. T UF THAE] Sgeade wEw
Saaratt § aren, =t ufafsfmm ww
2l

2. ZEapdl A wera JEN wulq gt
% QWA AT 'Y @ STl w5

&Y g ofiy
I9dw FoA § F wA-E/T T R/Ee
(@) Fae 1
{b) FEA 2
f¢) 132
[d) Aa 1L
N

—
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Directions :

The following two (2) items consist of two
statements, Statement | and Statement [L
You are to examine these two statements
carefully and select the answers to these
items using the code given below :

Cade :

{a) Both the statements are
individually true and
Statement I is the correct
explanation of Statement I

{b) Both the statements are
individually true but
Statement II is not the correct
explanation of Statement I

{fc) Statement 1 is true but
Statement Il is false

(d) Statement 1 1is false but
Statement IT is true

47, Statement ! :

In India, tribal movements of
19th century resulted out of the
process of land displacements and
the introduction of forest laws.

Statement T :

The Indian freedom movement
resolved the problems faced by the
tribals.

48. Statement I :

The economy of India in the
19th century came to a state of
ruin under the English East India
Company.

Q-DQG-M-HBJ/35A
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Statement 11 :

The English East India Company's
acquisition of Diwani right led
to the miseries of the peasants
and those associated with the
traditional handicrafts industry
of India.

49, The famous terra-cotta images of
rivers Ganga and Yamuna from the
Gupta period have been found at
fa) Ahichchhatra
{b) Kaushambi

{c) Rajghat

{d) Bhitargaon

50. Consider the following statement :

“India would be far more reliable
as a base for operations. Moreover
the prospect of a settlement
will be greatly enhanced by
the disappearance of Gandhi, who
had for years torpedoed every
attempt at a settlement.”

The above statement was made by
the British in the context of

fa) Kheda Satyagraha
{b) Civil Disobedience Movement

{c) Quit India Movement

{d) Non- Cpopera\{l\Movement
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e

frfafiaa @1 (2) weaied § 2 w9 §, Fom-1 s
FAR-11. FOE A A FuA R waah g ol
EFE‘&"{@T:?%

FE

(@) S wyq wfya: @ #, e
FAR-11, Fo—] F1 wE TP B

(b) =M wem wAfEm: W= #, fRg
FAR-11, FIT-1 F1 Tal TR

fc) HE-1 F 2, [ w11 56

(d) F4A-1 3w 2, Freg weam-ll @
2

47. I

aA 4 Ed wasd w1 S
A=A o fremm A ufEw W o
fafirs &1 Qe =1 afomy o)

wIA-1] :

e M2 wHEnE 7 amar fe)

48. Fya-I :
el e § e S gfem s
F wa ang F rdeyaeyn dwE
TR T IR 3
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T
sivan & afftnrgy 9 wid & feam =

UiER BT IEm § O en @m
dreredt 1 aun e ugw 1)

49. TH FT F T A ygw ARE 1 g
fa) wfgas
(b) TR
fe) TSMT

d) Tramra

50, fmifefaa #um o fem #ifsg

“urg dfemai F osmum & w9 4
wftes Fgeresita g aurfy, R @i
%1 yeamm, it & fve @ aga orfue
a7 o, {9 99 g% gEsie F &
wara ) = T

ITE wew fafew g few wed 7 e

™Y

(a) HF HOIE

(b) TG 3T AR
fc) WA DTS IFaTeH

fdl} mwﬁ .
N
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51. The Moplah peasant struggles took 54, Why does the Earth assume the
place in shape of an oblate ellipsoid?

fa) Darjeeling
(a) The Earth’s rotation causes the

Earth to bulge slightly at the
b} Andamans equator and flatten at the poles

{¢) Malabar
fb) The Earth’s rotation causes the

Earth to bulge slightly at the

(d) Chota Nagpur poles and flatten at the equator

{c) The Earth’s revolution causes
the Earth to bulge slightly
at the equator and flatten at
the poles

52. Hurricanes rarely form or move
within 5 degrees of the equator,
because

(a) Coriolis effect is weakest here

{d) The Earth’s revolution causes
the Earth to bulge slightly at
the poles and flatten at the
equator

fb) Coriolis effect is strongest here

fc) it has low pressure

fd} it has high temperature

55. Which one among the following is a
mechanically formed sedimentary

o
53. What do you call the total system of rocks

parallels and meridians that form
a network of intersecting lines?

fa) Salt rock
fa) Geographic pattern

(b) Limestone
(b) Geographic arrangement

c) Sandstone
(c) Geographic grid (9

_
T

{d) Geographic polygon (d) Gypsum \//\I,/

= _ . .
wwuw. guestionpaperz.in
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51. ‘moen Fram wed el gam? 54. et oA dEges & SRR & b g7

(a) =fsifem
(a) gl % Ul Wk FRO geel] ymeEE
T geeht - 3 ATl ¥ 3R g W
i Fudl & sl 2
{c) TTEER
(b) Tl H W F FO gl g W
(dj @er g Tehl-d T et ¥ si ymetn

T gud) & i }

52. uyed e % 5 feft f ot ¥ e

e & =94 @ 9o 8, Hith (c) ueft ¥ ufgrmr ¥ oFwO qedfi

YRG! T gohl-d W A R

(o) @E HIAE T9E wE" wHAWR 3R yat | =9 B et #
&I 2
(b) uE WG yaE we® 7= Ea (d) geeft 3 aftRAm % FRO qedt yat w
2 gochl-T 3w 3t B 3R wymeEn
T A9 & St 2

(c) TEl &= ®U BT 2

(d) 7TEl A e T 55. frfafiag § & FA-w F ToFd w9 A
T Haurel e 27

53. yo=adl @i ¥ AW ® R A
g S el F ol 99 W Fn

a7 37 (a) <& i
(o) Hmifas ufdey

(b} ~TRH
(b) vt fa=ma

(c) STEHREH
[c) Wries A
(d) wmierh qgys (dj Tormm —

e\l
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56. Consider the following statements : 58. In May 2012, which one among the
following Indian Business Houses
has signed an agreement with the
Bangladesh Government to design
and develop a new city, Notun

1. Creepers or climbers are
commonly found in the tropical
rain forest,

2. The epiphytes, which do not Dhaka {New Dhaka) in Bangladesh?
have their roots on the ground,
survive on the trees in the fa) Reliance Industries Ltd.
tropical rain forest.

3. All epiphytes are not creepers. (b) Sahara India Pariwar

Which of the statements given {c) Tata Group

above is/are correct?

{d) Aditya Birla Group

fa) 1, 2 and 3
(b) 2 and 3 only 59. Who among the following was the
winner of Men's Singles Wimbledon

fc) 1 and 2 only Championship, 20127

{d) 3 omnly
fa) Roger Federer
57. Consider the following statements (b} Andy Murray
about General Bikram Singh :
1. He is the 25th Chief of Indian fc) Novak Djokovic
Army.

, . ] {d) Rafael Nadal
2. Prior to his appointment to

the top post, he served as
commanding officer of the

Northern Army Command. 60. Recently in which one among the

following countries, the Prime
3. He is a veteran infantry officer. Minister has to be changed due to
an instruction of the country’s

Which of the statements given Supreme Court?

above is/are correct?

{a) Pakistan
fa) 1 only

{b) Bangladesh
fb) 2 and 3 only

fc) 1 and 3 only fc) Russia

fd) 1,2 and 3 (d) Nepal — (-

= ;
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56. Frfafad wuat r fomm Fifwm

1. foudi dad @ 3 sad sTER
T IWERCE-HE Faiadl B 9l S
21

2. sftgrey, 5 ST 4 2 Ad
B, IvmERfea-fm aufaa F gl w
Sfrd T B

3. |yt siftrrey faedi o= 98 a3
IH FUA § G w-01/F T /30

@) 1, 23N 3
(b} FaeE 2 3 3
fc) Faed 1R 2

(d) FT7 3

57. 9t fawm fig & s § faofefas sa
u faamn fifs .

1. 3 et @41 % 259 gAremey 3

2. 3 we w owwl ffE @ g sEn
I A FHE F FAE e+
w g w1 e

3. 3wk st Y g wwE
IR FoAt d | wE-T7/8 A /R0

(a) FAA 1
(b) FAH 2 3 3
fc) Fae 1 3 3

(d) 1,233
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58. W 2012 d, Frefafis wredfg =mm =i

7@ 5P us I T wWEr F Ay
FTARH B AT FE Al G (T 2
#1 sThirmfcad o fasfea =0 & = @
aEdte fhu 27

(a} ﬁamw%fmﬁao

(b) wer 3 TfEm

fc) 212144

(d) wieen fagen yu

59. FH H FN UF PG % UhA (dreoed

afeyafae, 2012 &1 faem an?
fa) TS $HEW

(b) U

fc) T HRTaF

(d) Tk ATSTA

60. ¥ @ § Fafafaa 4 4 foew v 2w 9,

2% % F=GH AW ST F EN
TE-AT D AETH] TB17

fa) W
(b) =TT
{fc) ®4

(d} q\r”a . ’\1 \ ~ L
— 7— -
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61. Why was theoretical physicist 63. How many States have at least 50%

Ashoke Sen, a string theorist electrified villages?
at Allahabad’s Harish Chandra @ 1
Research Institute, in Nnews
recently? fb) 2
fa) He was nominated to the Rajya fc) 3
Sabha d s

(b} He was one of the nine winners
of the first Yuri Milner 64
Fundamental Physics Prize

. Consider the two positions of the
dice as shown below :
fc) He was selected as jury

o o0
member to decide on the i f °°
awardees of Nobel Prize for AN by oo
the year 2013
(d] He was selected for the When 1 is at the bottom, what
S. S. Bhatnagar Award number will be on the top?
Directions : {a) 3
The following two (2) items are based on th) 5
the given histogram that shows the 6
percentage of villages in the States which fe}
are not electrified : {d) Cannot say
a0 —
65. New Public Management stands for
507 - 1 1. shift from conventional public
| policy to cost effectiveness
w 404
g 2. cluster rather than pyramids
§ 30+ of organization in structural
S frameworks
& 204 _
3. flexible and adaptive opera-
10- tional systems
4, rigid planning and conven-
A B € D E F tional bureaucratic hierarchy
States

Select the correct answer using the
62. Which of the following States code given below.
has twice the percentage of

1, 2, 3 and 4
villages electrified in comparison @ 1, &

to State D? {b) 1 and 2 only

fa) A {b} C fc 1, 2 and 3 only

¢/ E (d F (d) 3 and 4 only\ /-
SRV

- > _ . P
wwuw. questionpaperz.in
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61. dgf=s Wiadhifag smim 49, 5 =@

63. fhed T # FH-F-TW 50% faelge

% BN arEdE FRm T () Tta §7
fagrram £, 2t € 1 waEm § .t 97 @ 1
(a) & T= B & fou wHia gu 9 (b) 2
(b) 3 wm T fiem qe At e e/ 3
(g8 Tremt werza ffsma orgs) & (d) S
A faeadt 3 & e 64. W B A A w @ ke T Frw
() 3 ad 2013 % fau A= wEn EHELE
Tl w o foffla ww R —
-8 % w9 F i A -1, —,
(d) ¥ THe THo WeqmR TFER % fou e o
o A
friw I AT W 1 B, @ I A W
frafafaa &t (2) wem fu muosmEART W F -8 ge gii?
Sid 2, S o= A 39 el ) gl et (@ 3
2, Forrd fasreh a8 2
(b) S
%07 N fc) 6
50 B = (d) FE €l TFd
407 65. T v ya w1 anef B
4Eso- 1. i @ fifa @ @rme
2o yHTERTiEr 3R afada
2. HEATHE g4 B §ed & R
104 ! 999 W
o IEENININEE 3. ¥ UF gl yEIeH sqawemd
AEe BEF 4. T A U@ ate s
e
e F TN W FE IW
62. Freeian e % 4 Fwt D e A T
qer 4 fastefie nial #1 wfoem S
a7 fa) 1,2, 334
(b) wad 1 a2
@) A (b) C
(c) a1, 2 33
c) E (d) F (d) amaaaﬁur
N
erz.in
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66. Which one among the following items 68. The Eleventh Schedule inserted by

was not added to the Concurrent the 73rd Amendment distributes
List of the Constitution of India powers between the State
under the provisions of the 42nd Legislatures and the Panchayats,
Amendment Act, 19767 and lists 29 items. Which among

the following are listed in the
Eleventh Schedule?

(a) Family planning 1.  Minor irrigation
2. Animal husbandry

b) F t
(b} Fores 3. Women and child development

4. Fire service

fc) Education
5. Cattle pounds, prevention of

cruelty to animals
d) Railways
(@ Y Select the correct answer using the
code given below.

67. Public Interest Litigation falls within () 1,2 and 3
the jurisdiction of the High Court
provided certain conditions are (b) 1,4 and 5
fulfiiled. Which one among the
following conditions is not accepted fc) 2,3 and 4

by the courts?
(d) 3,4 and 5

{a) Public is interested in
vindication of some rights 69. How do marine animals survive in
water without air contact?

{b) Enforcement of public duty fa) They do not require any oxygen

{b) They take oxygen from water
{c) Courts can examine previous

records of public servants {c) They only produce oxygen in
their body
{d) Personal injury or loss is an {d) They get oxygen from water
essential element plants

A
E—————
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66. fiafaflas 4 @ =H-w1 ww fawg 408

gmes wfufaam, 1976 F ITedt ®
HYH vra & w@fgm i wwadd gt 6
EFARSICARIe O

fa) 9HER e

(b) @

fc) Tiem

(d) =4

67. % & Yehawl Iwd e 1 AT

¥ oo 2 oawd fF wfawy wd @t &
Ffefiga d 9 w9-0 w wd =y
BRI eha A8 87

(@) F©& Aftmm #} o FH A
AR i & B

(b) T A=A FHT YA

(c) =A™ TF IR+ fed
ARRE! i I19 =W qHd B

(d) Jafww afa o Tl w EwEE ™
2
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68. 739 §YR g e el s
Ty faarmeat v = F o9 il
AU il § au 29 favw gEivg
il ¥ | AREd] wgEE § frefafea § |
Fr+-4 fawy gefeg 87

1. @y fe=i
2, OYEEH
3. Hfgen g iy foewm

4. wan

5. @il ed, witet & gl g &
famm

o Bn T oge w WM wmoad IW
EEL]

(aj 1,2 373
() 1,435
fc) 2,334

[d) 3, 4305

69. T <A T F wd & fon s 0 A
St 87

(a) 32 st S ETEHal T8l gl
(b) dwd B sadism 7§

fc) @ 3o v 0 & ATRfSm Y1 Fd
8

(d) o 9 % Al @ ATFHIHT G F 2
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70. Which one among the following
causes stomach pain in human

body?
fa) Base
fb) Acid
{c) Salt

{d) Bacterium

71. Use of tamarind juice as a part of our

meal helps

fa) to prevent tooth decay

(b) to take care of excess fluoride
in drinking water

{c) for easy digestion of food

{d) to increase the strength of
bones

72. Green Muffler is

(a) a technology for reducing air
pollution

(b) a method of afforestation

{c) plantation along roadsides to
reduce noise pollution

{d) a process of reducing vibration

QO-DQG-M-HBJ/35A 28

73. Byssinosis disease is common in
the workers of

fa) rubber industry

(b} ceramic industry

fc) textile industry

(d} iron and steel industry

74. As per the Bureau of Indian
Standard, the domestic water
demand in India in LPCD (liter per
capita per day) is

fa) 60
{b) 1060
fe) 135
{d) 270
75. Alluri Sitarama Raju’s rebellion

(1922-1924) took place in
{a) Chota Nagpur

{b} Gudem-Rampa Tract
fc) Bastar

(d) Neliore —

= . .
wwuw. guestionpaperz.in
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70, Ffefaa § @ #F-@ wh 799 WA 73. FopEEITEEl AW ard A A il 2

Yz-g3 1 HOH 87
(@) &S T F A
fa) &h
(b) = T & gt |
(b) A
(c) T M & A H
(c}) oA
(d) e A gEd T Al °
() ST
74. AR A S0 % HYETR, TG H§ 99 R
71, siw= o ZHell 3 16 1 I HEQ A § e "7 LPCD (cfer wfa =i wfafed)
7 fopaeft 27
(o) =4 =3 B T F o
fa) 60
(b) T T U wIsEe f Al B
wgfera F % e (b) 100
(c) S % qreE el & fag (c) 135
(d) &g Ht qwa 1 FgH & fog (d} 270
72. T4 ART B 75. g darm TS e (1922-1924)
F7 gAY
(o) AT VT FH FTI H 0 W
(a) B TR
(b) TG HT T L
(b) TEH-T I
(c) Al s w0 FE F fog weRl &
R R g (c) &R
(d) TR FH F A CF A (d) "B -
o\
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76. Which of the

following potitical

methods was/were incorporated by
Mahatma Gandhi?

1.
2.
3.

4,

Petitioning to the British
Village reconstruction
Gheraos

Fasts

Select the correct answer using the
code given below.

()
(b}
(c)
(d)

77. Which of the

4 only
1, 2 and 4 only
1, 2 and 3 only

1, 2, 3 and 4

following Princely

States saw major movements over
the period from 1930s to 1940s?

1.
2.
3.

4.

Tripura
Nilgiri
Baroda

Travancore

Select the correct answer using the
code given below.,

(a)
(b)
(c)
(c)

Q-DQG-M-HBJ/35A

1, 2 and 4 only
2 and 4 only
1 and 3 only

1, 2, 3 and 4

30

78. Which one

among the following

relates to a land revenue policy
introduced by the English East
India Company?

(a)
(b)
(c)
(d)

Pitt's India Act
Mahalwari Settlement
Regulating Act

Subsidiary Alliance

79. Which one among the following is a
cold current in the Atlantic QOcean?

(a)
(b)
c)
(d)

Gulf Stream
Benguela Current
Peru Current

Brazil Current

80. Consider the following statements
about irrigation in Punjab :

1.

Which of the

Intensity of irrigation is the
highest among all Indian States.

Area under canal irrigation is
the highest among all Indian
States.

There has been severe land
degradation in Punjab owing
to agricultural modernization
including high intensity of
irrigation.

statements given

above is/are correct?

(a)
(b)
(c)
()

1, 2 and 3
1 and 3 only
2 and 3 only

1 only

N
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76. wEem w3 Prefdfaa § @ BW-d
T Of et =1 gwrdw feran?

1. fafem =t ovsfl 2

2. U gAY
3. WE
4, IEW

i e T oF W oW W OAE IW
gf

(a) A 4
(b) e 1, 2 3% 4
(c) et 1, 2 31 3

(d 1,2, 334

77. Treafafga # @ firm e oot § 1930 %
Z9/ W 1940 ¥ W H @@y d
e Al gut

1. faym
2. =i
3. FER
4. FEUHR

= R U ke W OYEM W WEl I
g

(a) FeA 1, 2 3R 4
(b) Had 2 3N 4
(c) Fae 133

[d) 1,2, 334
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78. Tfafag & @ #9-@1 e hom e
sfear ol g W T U i @
Trerg T 27

(a) TozE 3fes U
(b) TETER] TR

(c) Tgafin Tw
(d) TEHF Ty

79. Tefafad § @ ®H-@l us IEcvH
AT A 3 uw 27

@) T W

(b) ST U
{c) UE €T

(d) SISl 9T

80. Twa § fmmd wrrdht frrfafan wul W

%?JT(%Q:

1. weft e ot § @ el i &
e = 21

0. ovft widm usat # ® e Tl 3w
farg =1 & 3= 8|

3. F syl % e, e
faend 3= diga i 2, 9=
% g ofiy s gaT 2

T oMl § B RH-H/A W /R

(@) 1, 23M3

(b) HAA 1 3 3

(c) FaA 2 R 3

(dj A 1

—
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81. The Golden Quadrilateral of India
connects which of the following
places?

fa) Srinagar—Porbandar
—Kanyakumari—Silchar

() Delhi—Mumbai
—Chennai—Kolkata

(c) Delhi—Mumbai
—Kanyakumari—Kolkata

(d) Jammu—Ahmedabad
—Chennai—Kolkata

82. In the context of agricultural
revolution in India, which of the
following statements is/are correct?

1. White revolution in the field of
agricultural development is
associated with modernization
of sheep farming.

2. Second green revolution is
associated with development of
horticulture.

3. Blue revolution in the field of
agriculture is associated with
improvement in the production
of fish and marine products.

Select the correct answer using the
code given below.

fa] 1 only
(b} 3 only
fcj 2 and 3 only

(d) 1,2 and 3

Q-DQG-M-HBJ/35A

83. Consider the following statements
about the ‘Curiosity’ rover :

l. It is a robotic mission for
exploration of the Mars
launched by NASA.

2. It is powered by solar energy.
Which of the statements given
above is/are correct?

fa) 1 only

fb) 2 only

fc) Both 1 and 2

fd) Neither 1 nor 2

84. Consider the following statements :

According to the Second Annual
Employment-Unemployment Survey
Report, 2011-2012 conducted by
the Labour Bureau, Government of
India

[.  unemployment rate in the
country during the period has
come down significantly over
the previous year

2. Gujarat tops the list of least
unemnployed among all Indian
States during the period

Which of the statements given
above is/are correct?

fa) 1 only

(b) 2 only

fc) Both 1 and 2
fd) Neither Ln

T 2
— = {\K/’Q:

- _
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81. wd #1 @i wgdw frfafaa 3 & &

Lol = SrEan 87

(a)  HATH—TREE—Fgar—ae=

(b) TeR—pas—d—plerem

(c) Teg—grai g ai—mlernm

(d) SR ITEHGHE— = #e—hIeThIel

82. WNd T W W< % w=d d, Fefafad

FoAl § § FE-T/8 9 &/F7

1. FfU fwm % &9 ¥ W @,
Tty & Sy | 3 5 2

2. gEl e @i, FEeN & faem
EEEEI R

3. F & # Fm wifw, " e
U IS % IR § gg @ |
SEEE

= for ww gz F oW W OEE IW
EELY

(@) FaA 1
(bj FaA 3
(c) a2 R 3

(dj 1,2 313
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83. ‘Wil dat & v # Frafafag wu
T fommr e

1. 9% O % 39T % U NASA
21 watda tefees fimr )

2. T € e 50 vihda 21
39 FoAl § W wm-w/A a9l /R

(a) FaA 1
(b) FaA 2
(cj 1 ¥ 22

(@) Fd 1T 2

84, Tymfifiga wumi W f=m Fifsw .

wH S, WRd @R g0 h T gEd
e USR-S wdew e,
2011-2012 % 3TIEN

1. =6 afg # 2w # SO s,
et ad il g § ey w9 A
FH S B

2. 34 afy & Tema wsf aweE asa
¥ gew SRS S g % A W
2

304 wUAl § § BT/ 9L B/E0
(a) FaA 1
(bj FaA 2

(e} 1 3R 2 M

(@) T 1 3?!13&2
A\
/—\— -
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85. Consider the following statements :

1. Discovery of Higgs boson of
which scientists are almost
certain, may discard Einstein’s
special theory of relativity.

2. Probable discovery of a particle
which moves faster than light
may prove Stephen Hawking
wrong.

3. Probable discovery of a particle
that moves faster than light
may go against Einstein’s
special theory of relativity,

Which of the statements

above is/are correct?

given

fa) 1 and 2
{b) 1 only
{c/ 3 only
{d) 1 and 3

86. The President of India has recently

given approval to establish separate
High Courts in three of the North-
Eastern States of India. Which one
among the following is not among
them?

{aj Arunachal Pradesh
{b} Manipur

{c) Meghalaya

{d) Tripura

87. Consider the following years :

1600, 1700, 1800, 1900, 2000,
2100, 2200, 2300 and 2400

How many leap years are there in
the abave?

{a) None
(bj 3
) 6
(d) 9

Q-DQG-M-HBJ/35A
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89,

90.
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10 identical coins are lying on a table

having head ‘H’ face as the upper
face. In one attempt, exactly four
coins can be turned upside down.
What is the minimum total number
of attempts in which tail ‘T’ face of
all the 10 coins can be brought to
be the upper face?

(a) 4
(b) 5
(c) 6
(dj 7

If
X is richer than Y
Z is richer than X
P is richer than Z
@ is the richest of all

who among the following will
have the central position if they are
made to sit in the above degree of
richness?

(@) X (b) Y

(c) Z {d P

A and B take part in 100 meters
race, where A beats Bby 10 meters.
To favour B, A starts 10 meters
behind the starting line in a second
100 meters race, running at their
earlier speeds. Which one among
the following is true in view of the
second race?

{fa) A and B reach the finishing
line simultaneously

{b)
{¢/ B beats A by 2 meters
(d) A beats B-

SV

P | ea—

B beats A by 1 meter

-1 meter




85. Tmafifiga wedl v foan Ffsw
1, feg 9w & @e, s e °@

A T gt 2, e
Fr TerE & faum fagra | sEA
w1 gedl 2|

2. W & A a9 vl § Te T w
£ yorhE @, @i gife #®
TAd 3EU Hehdl & |

3. yFw & +f 39 ufd @ = aw e
F gl @S, smgwerd &
amiEa % v fagre & freg 0
el 2

30 et 8 | FH-A1/8 7 8/80

fa) 132

(b) T 1

fcj FIA 3

(dj 13m3

86, WA & TEALd A A B A ARG ok I

el § 8 fw T # ogug 3= e

Tfd # H1 IEes WM R R

Taffiga § @ FH9-91 0% 39 § T8 87

(@) 3TEUT=IA T3

(b} T

fcj WETAE

(dj g

87. frafafag auf = faar i .

1600, 1700, 1800, 1900, 2000,
2100, 2200, 2300 3R 2400

g e srferad 87
(a) 1% TE

(o) 3

(£ 6

@ 9
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88. U0l Fofk & w9 # fimn ‘H’ wo= 9
10 UsEd s 06 I W 98 T B
g ¥, e = fs 3w fRu w1 wed
3 mft 10 Bl % a@ T B w
SO0 Fol & w § o O He vl
F) v - T 27
faj 4
bj 5
fc) ©

(dj 7

89. IR
X, Y & #Aftres gqaq 2
Z, X ¥ s v9H B
P, Z § it gqam 2
O T=d AfiE gqa B

A Frfafiad § 8 fege Sy wm gm
afe gl = el B IR A d
Ceipiis i

(a) X b) ¥

fc) Z (d) P

90. A 3 B 100 Mz &I dg § ¥ o 2,

el A, BH 10 i A g0 3@ 21 BH
Hra & fern, g@ll 100 Hie H DS A
AT @ # 10 A §iB @ 9 gE
F 2 3 AT R Ted Il 9= 4
e 1 qElt A5 & e A foafafaa o
¥ HH-91 TF 98 27

(@) A3t BEHT tEEY FHMA W@ T
g
(b) B, AWl 1 HZ & 0 am

() B, A® 2 W d g am
(d) A, B#® 1 HZL& 80
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91. Consider the following statements :

1. The Rajya Sabha is never
dissolved and can be called to
session any time at short
notice.

2. Under the Constitution of
India, the law-making powers
of the two Houses of the Indian
Parliament are symmeirical.

Which of the statements given
above is/are correct?

fa) 1 only
{b) 2 only
{c} Both 1 and 2

{d} Neither 1 nor 2

92. Which of the following was/were

the essence of the peace-building
efforts of the United Nations from
1980s onwards?

1. To resolve underlying disputes
between the belligerents

2. To monitor arms control

agreements

3. Providing development assis-
tance t¢ maintain peace

Select the correct answer using the
code given below.

fa) 1 only
{b} 2 only
fc 1 and 2
{d] 2 and 3

Q-DQG-M-HBJ/35A
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93. Which one among the following

treaties of human rights was signed
but nrot yet ratified by India?

fa) International Covenant on
Economic, Social and Cultural
Rights

{b) International Convention on
the Elimination of all Forms of
Racial Discrimination

fc) Convention on the Political
Rights of Women

{d) United Nations
against Torture

Convention

94. As part of a framework of human

rights law, all human rights are
1. interdependent
2. interrelated

3. indivisible

Select the correct answer using the
code given below.

fa} 1, 2 and 3
{b) 2 and 3 only
fc) 1 and 3 only

(d) 2 only —

.

—
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91, fr=fifad weuAt w fa=m $ifsw

1. TS oAy @ ot W @ g e
THEl @y oed gadl W, Red oft
A, T T TR B

2, 9Ma % dfaum & wdm, ardE
THe. & T "eAar & ffufmin
wIthal Gy £ |

I FoA § & FH- /8 | B/ET
(a) F&e 1

(b) Had 2

() 13N 2 =Ml

(d) A1 IRAE 2

92, famferfiga § @ F99-91/4 1980 F 29% @

S ongw Uy % wie-fFmi % we
/% G 91/ A7

1. FTewrd & €= st gt &

FEIET AT
2. i Ao w0 = 9 s

3. wifd s9C e B e dgEa
TR FI

9 faw T g w oI FOHE IW
RER

(a) HIA 1
(b) ad 2
() 13M2

(d) 233
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93, famfafga 4 4 9-H v omE i

it T H1 T Feeg ol @ ST
0 Igeniia A i

(a) ATfdH, wmfds wa  wnRfow
arfirr-fawrs srariyie wEfee

(b) @i TER F uNE dgwEl %
I - STt EiaE

{c) HfEeaTt & TeHitas sl -fawms
SEE T

(d) 3Icded & faeg ayw Uy wElEE

94. A4 AfEn faft & = 2= & 9 % w9

#, @t ame arfien
1. s=tiE #
2. ardmwElaE 8
3. afgwrsy 3

9 fau e g2 W owEM WA IW
EE

(@) 1, 2 3 3

(b) Faet 2 3N 3

(c) haet 1 3R 3

(d) Haa 2 —C
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95. Which of the following statements
about Ecomark is/are correct?

1. Ecomark is a certification mark
issued by the Bureau of Indian
Standard for the product
conforming to a set of
standards aimed at the least
impact on ecosystem,

2.  The purpose of the mark is to
increase awareness among the
consumers towards reducing
environmental impact.

Select the correct answer using the
code given below,

fa) 1 only
fb} 2 only
fc) Both 1 and 2

{d) Neither 1 nor 2

96. In most of the children’s toys, a toxic
chemical remains present. In this
respect, which among the following
statements is/are correct?

1. The name of the toxic element
is phthalates which are esters
of phthalic acid.

2. They are mainly used as
plasticizers, i.e., substances
added to plastics to increase
their flexibility and longevity.

3. They are easily released into
environment because there is
no covalent bond between the
phthalates and plastics in
which they are mixed.

Select the correct answer using the
code given below.

fa) 1 only

(b} 1 and 2 only

fc) 2 and 3 only

fd} 1,2 and 3

97. Given below are some of the

important training institutes of the
Indian Army :

1. High Altitude Warfare School
2. College of Military Engineering
3.  Army War College

4. Counter Insurgency and
Jungle Warfare School

Arrange the locations of the above
institutes from North to South.

(@) 1-4-3-2
(b} 4-1-2-3
c) 2-3-1-4

(d 3-1-4-2 .

——
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95, ‘IR % wary 1§ Fefafea w0 4
w91/ T 2 /27
1. ‘$Emd uE owwd fag §, W
T T =AdH YAE e & T8
¥ T4 AES-T=E ¥ STEud @l
Tt IeaE & e vt w0
g1 T e smar &)

2. w8 Tag & waeE swhwed H
vatarla waial =) e we s R
1 STRER FE B

9 fu gz & o w@oad I
L

(@) Fad 1
(b) Had 2
fc) 1 3™ 23M

(djy 4@ 1amad2

96. T=I & umw fged ®, ww e
wEd ufdE wma B 3@ owey d
refafiag wut 4 @ #:w-w1/8 9
2/

1. 9%t a9 %1 9w dere & W s
3T o TR £

2. 3 g Wit & w1 § 3m
e s # osrelq 3 ued, R
TR 1 fireet IR TR 3R
ST Tl STl 2 |

3. F a9 @Ew ¥ w8 S
%, with dote 3t wnfesw, faad
7% T B wran 3, &% <9 @
w13 gEgAE w Adl A

Q-DOQG-M-HBJ/35A
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Bl el e T D B e
g

o) FaA 1
(b) a1 3 2
{cj A 2 I3

fdj 1,233

97. 9w 91 F TS FEwdH WA weeE
4R o 8

1. 3= gl gs e

2. ¥ it merfdETe™

3. &1 gg welldaer

4. i ITEa Td ST g farmerd

I WEAE! F AT F IW | gl
% w9 T amE

(a) 1-4-3-2
(b} 4-1-2-3
(¢} 2-3-1-4
fdj 3-1-4-2 —
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98.

Which one among the following is

the correct descending sequence of
India’s import of commodities in
terms of value?
fa) Capital Goods—Electronic
Goods—Food Products
—Fertilizers
{b) Fertilizers—Food Products
—Electronic Goods
—Chemicals
{c/ Capital Goods—Electronic
Goods—Food Products
—Chemicals

{d} Electronic Goods—Capital

100. Match List-I with List-II and select

the correct answer using the code
given below the Lists :

List-I
{British Policy)

Agrarian
Settlements

Divide and Rule

1.

List-1I

{Consequence)

Partition

Famines
and popular
rebellions

Goods—Fertilizers

—Food Products
Increase of

home charges

C. Excluding Indians 3.

99. Match List-I with List-II and select from Government

the correct answer using the code Jobs
given below the Lists :
List~] List—IT D. Wars and 4. Alienation of
(Governor General)  (Important Policy) Conquests the Indian
middle class
A. Lord Cornwallis 1. Partition of
Bengal
B. Lord Wellesley 2. Doctrine of
Lapse Code :
C. Lord Dalhousie 3. Permanent
Settlement
D. Lord Curzon 4. Subsidiary (@) A B C D
Alliance 3 4 L 2
Code :
{b) A B C D
faj A B C D 3 1 4 5
3 4 2 1
(b} A B C D
1 2 4 3 ¢/ A B C D
) A B C D 2 1 4 3
3 2 4 1
(d) A B C D fd A B C D
1 4 2 3 2 4\7;\ -1 3
> _ _ -
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98. frefafiad § # #F-7 wF, 90 & 779
g AT W, A H STUW W, G
AU A 27
(@) YISIPTA ATA—geaE AT

— @Y IE—IdTeh

99, gi-1 # gH-1 ¥ gafew Hifsm 3w
Afeai % = fog T e 1w

Wﬂﬁq

-1 He-11
(T FATT) (veargut Hitd)
A. @l FHHaeE 1. & &7 e
B. (g Jeiwrel] 2. T vE i
C. @ gARIS 3. w2
D. @ie %= 4, ggrEE Ay
T -
fa) A B D
3 4 2 1
(b) A B C D
1 2 4 3
fc) A B C D
3 2 4 1
(d) A B C D
1 4 2 3
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100. T=-1 &t g1l @ gafva Al ek

gfel % 9= fow g @ w1 W W= gl
I g
-1 Het-11
(fafew Hifa) (o)
A, FipIH S 1. fawrem
B. %2 Tl AR TS 2. 37 W HEW
ETY face
C. wrl At @ 3. g uWE A gfE
wrdiat @ =TE W
D. I3 w fa=m 4, AR 7 =1 H
ELsteror|
FE
fa) A B D
3 4 1 2
) A B C D
3 1 4 2
g A B C D
2 1 4 3
(d A B D

2
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101. Who among the following used the

term ‘Drain of Wealth’ for the first
time?

fa} Surendranath Banerjee
{b) Bal Gangadhar Tilak
{c} Dadabhai Naoroji

{d) Mahatma Gandhi

102. The Government of India has

recently established a committee
under  the chairmanship of
5. K. Thorat. What was the
mandate of the committee?

{a) To review the working of the
NCERT

(b} To frame some guidelines for
preparing the syllabus of the
central schools

{c/ To review political cartoons
and other contents of the social
science and political science
textbooks for class IX to XIii

(d} To determine the guidelines to
prepare the test items

103. Consider the following statements

about Jeet Thayil :

1. He has been nominated for the
2012 Man Booker Prize for his
debut novel, Narcopolis.

2. Narcopolis is a novel on the
background of communal riots
in Gujarat.

Which of the statements given
above is/are correct?

fa) 1 only

(b} 2 only

fc) Both 1 and 2
{d) Neither 1 nor 2

Q-DQG-M-HBJ/35A
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104. Which of the following memorandum

of understandings were signed
between India and Myanmar on
May 2012 when the Prime Minister
Dr. Manmohan Singh visited the
country?

1. On India-Myanmar border area
development

2, On establishment of joint trade
and investment forum

3. On establishment of the
advance centre for agricultural
research and education

4, On establishment of Rice Bio
Park at New Delhi

Select the correct answer using the
code given below.

fa) 1,2 and 3
fb) 2 and 3 only
fcj 1 and 4

(dl 3 and 4

105. Which one among the following

statements about Aung San Suu
Kyi is not correct?

fa) She is the chairperson of the
National League for Democracy
in Myanmar

(b} On April 2012, she was elected
to the Upper House of the
Parliament

{c; On June 2012, she delivered
her Nobel acceptance speech
two decades after being
awarded the Peace Prize

(d) She did her graduation from
India

7/\/\.4
> _
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101. =78 ¥ fwed ‘va-3rm@E (39 % 979)

I1&2 1 TETH YA TR Y
(a) HreTa st

(b) AT TR faa

fc) ETETHTS I

(d) TRTEHT Tt

102. WRY SCFR 3 T 1 § ude o UW@

semagal 4 wew Afa vfew fr B oI@

afufa &1 e = a7

{a) NCERT % Hdai &t qHiedl &1

(b) =t fommeml & gremsEn i %
fau wfomm  arksfi-fag= @Om
FTAT

(c) HEIX ¥ X1 & v gua-fagm
w EHfe-fam TergEs %
T ®IeAl 3 3 el il
HHIET LT

(d) ST WEE O OGN FA & faw
Arteefi-figra feffa ==

103. 9 ufaad & «n § Fefafam =@ @

fmm e -
1. 3 31 gug 35=ng qreemifes’ &

fam 9 g R, 2012 % fa
ifhra Ferem

2. ‘FrEmfad’ T ITAW 2, S EUd
§ gu AEEe ekl gBYE W
i B

3wt el @ wE-T/Q @ B/ET

(a) Fae 1

(b) HFA 2

c) 1 3R 2aH

(@) A 1sAHE2
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. FfoRem @ @ #=h-0 oRiw-sw wwa

3N =ER * d9 ud 2012 #, 99
YA 2 T e 3w T i 3
W, e frr ma?

1. YR-AMEE g &y % g =

2. WgH AMR U@ FEY B # e
T

3. T arEum wg firan % fou 3w
Fg F W W

4, T R T FEa 99 W (TR 9@
gT) st FHAT T

I U g oge o owEm W EdE IW
ElEL

(@) 1,2 3R 3
(b) Fael 2 3R 3
(c) 134

(d) 334

105. A 9F g 1 & ant ¥ frafofad st 8

U BH-E1 TF e T8 27

(@) ¥ MW A Fwad & T g
(Fera <l Hi SHIshH) ) Sveman
Z

(b) T 2012 § 9 TUE & IA HAHA *
fem Fatfe g3

(c) SA 2012 H IFH S A
wipfa wmw, i EFR IW w1
% ) <yl 912 fe

(d) IR Ut wras £ e e @
oTH

SN
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Directions .

In each of the following three (3) items, a
statement is followed by two assumptions
numbered [ and I, An assumption is a
statement that you take for granted. Study
the statement and assumptions, and
answer the items using the code given
below :

Code :
fa) Only I is
statement

(b} Oniy 1 is
statement

implied in the

implied in the

fc) Both 1 and Il are implied in
the statement

(d) Neither I nor II is implied in
the statement

106. Statement :
Teaching through TV is to help
the students to learn without a
teacher.
Assumptions :
I. Students want to study
without a teacher.
II. Teachers are incapable of
teaching.
107. Statement :
If you lose after competing hard
that is fine. If you iose without
trying hard that is what
disappoints me.
Assumptions

[. Losing after trying hard is
excusabie.

II. Losing  without
regrettable.

effort is

Q-DOQG-M-HBJ/35A
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108. Statement :

Trade union leadership is in the
hands of politicians.

Assumptions :

I. Trade unions have leaders.

II. Leaders are generally
politicians.
109. Which one among the following

options is a word that can be
formed from the ietters used in
INTELLIGENCE?

{a) SCIENCE

(b} NOTICE
fc) INCITE
(d) ENTAIL

110. Which one among the following

options is a word that cannot be
formed from the letters used in

INTELLIGENCE?
{a) ENTICE
(b) GENTLE
{c) ENGINE
(d) INTENT= N /.,
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A9 for o A (3) wwATAl A ® UEE H UF HuA
F 9% [ w11 dw@rfea g syfismomd 6w )
Afiramon w T #eA ¢ Rwe 79 e oY g
e agn siseTTTed w1 st ity i A=
fw TTU e T WA W G F I A

L -4

() & 7 Fae 1 fafee B

(b) = Fad 11 Fifm 2

(c) %W [ AR 11 & ffea &

(d) FaqadA@ Ak

106. +%7
TV g g fommisdat @t fomn st
F o o weg = )
syfirymon -

1, faenefi fa svegms & g =Rl
1

1. 37es Ter o e §

107. %4

If% w21 Wi % =g 309 gt §, &
SFwd g g1 ate fam fed ofem &
39 ¥ &, a1 g2 e et 3

ITTATEON

I F2 FifEe F =% g EEE 2
. forn et ifirm & e WesHss 2
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108, <h¥H -

Tolgl HH I Aged TeHITaE % gg |
el 2|

STTSTETOT

1. meigt gel &% 3 A
. 31 gErge: Osefag 8 2

109. INTELLIGENCE # yam fee my stemt )
9 g5 arel weg faffiga el 0 g
FIH-H UF 27

(@) SCIENCE
(b) NOTICE
INCITE

c/

(d) ENTAIL

110. INTELLIGENCE ¥ wam fag mo stemi |
A 99 g aTen ¥ THefdfage faeweat 4
o #FYa-91 us 27

(a) ENTICE
(b) GENTLE

(c) ENGINE

(d) INTENT =~ ,_,
AN
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111. Which of the following statements
about National Human Rights
Commission (NHRC) is/are correct?

1. It is an alternative non-judicial
channel.

2. Victims of human rights
violations can seek reparation
through NHRC.

3. It cannot grant immediate
relief.

4. It has the direct power of
enforcement.

Select the correct answer using the
code given below.

fa) 1 only

fb) 1 and 2 only

fc) 1,2 and 4

fd) 2, 3 and 4

112. Consider the following statements
about the Convention on the Rights
of the Child :

1. This is an international treaty
which recognizes the human
rights of children up to the age
of 14 years.

2. It constitutes a common
reference against which
progress in meeting human
right standards for children
can be assessed and results
compared.

Which of the statements given
above is/are correct?

fa) 1 only

(b) 2 only

(c) Both 1 and 2
{d) Neither 1 nor 2

Q-DQG-M-HBJ/35A
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113. Which one among the following is
not a goal of National Action Plan
for Climate Change?

fa) To promote the development
and use of solar energy

fb) To reduce energy consumption
through supply side
management

fc) Afforestation of degraded forest
lands

fd) Improvement in water-use
efficiency through pricing and
other measures

114. Which of the following service
sectors in India had the highest
percentage share to India’s GDP in
the year 2010-20117

fa) Trade, hotels and restaurants

(b) Construction

(c/ Transport, storage and
communication
fd) Community, social and

personal services

115. Which one among the following
statements is not correct?

fa) Eastern Himalayas and
Western Ghats are the two
biodiversity hot spots in India

{b) Central American lowland and
highland forests are identified
as biodiversity hot spots

fc) The biodiversity hot spots are
mostly confined to the tropical
and subtropical regions of
the world

{d) The Scuth-East Asian islands

are not rlth\/alodwersmy
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111. Y A ARmR @ (NHRC) & &

% frafafles § @ #9-w1/9 F49 98
2/37
1. T2 us JFcys =nfiehar groft 2

2, THE R SguEl % difga =fE
NHRC &% mmerm & gifgfd = aaa
2

3. 9% doFTel Ued WeH A8l & Hehell|
4. TW Yadd i yeae wiit U 2

F= Ry T g W O W oS IN
T

fa) Fad 1

(b) a1 32
fe) 1,234
[d) 2,334

112. firg % wrften-fowas s & am

fferfiag sut ® e Fif -

1. 9% TF =g i &, s 14 9
&1 317 aF F Tl % A HE
! " ot

2. w8 uw gHE wed fffa & 2,
fos fagla fimget & fau ame
I a1 T FA W §E W
¥ AFeA Rear S o"ea @ et
gftormt it gern Y S Fdl 2

30 wuA & F wA-A/E G g /a7
(a) ¥ 1

b) FHadA 2

fc) 13 2zM

(d) T@13MId2

Q-DQG-M-HBJ/35A

113, Fmfafas @ @ F9-w1 & SoEy aftEds

¥ fou o = e w1 As T 27

(@) TR I % Fwm ik Iwmm @
Y T

(b) I vE yery g F 9 "I

(c) Freifema a1 syfiEt 1 F9qw

(d) Fea-frufor @ s sEl g S
I7AN 2ET § GUR

114. i@ # fefafaa 4 @ fem @ g7 =

F 2010-2011 # wnia % GDP #
I=ray gfaard 319 o1?

(a) SR, Blewt 3R Tl

(b) Tomfm

(c) haEd, Werw T =R

(d) TR, FrTE T6 daftees dard

115. fyafafag wemt § @ $9-91 & g T

2?

(o) G fewmem i ofRndt @ wia d
3 39 fafavan aweuw &

(b) W el Fre-yfy s s=-
yftt 99 9 ffaum aweret & w0 4
qEIH T &

(c) w9 fafaum aweae arfvrenma: v
¥ IOEREE 3R ITwERaT
2t ae difig

() efq-qd ofiré € Sa fafawar F
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116. Which one among the following 120. Match List-I with List-1l and select
Indian States shares boundaries the correct answer using the code
with the largest number of States? given below the Lists :
fa) Madhya Pradesh Listd List—I]

(b} Chhattisgarh (Individual) {Organization)
fc) Maharashtra A, Bhagat Singh 1. Congress
fd} Assam ) .
B. Swami 2. Hindustan
. . Sahajananda Socialist Republic
117, Which one among the following A L
. . . ssoctlation
Indian States shares international
boundaries with three nations? C. G. K. Gokhale 3. All India Trade
(o) Uttarakhand Union Congress
{b) Himachal Pradesh D. S. A. Dange 4. All India Kisan
fcj Arunachal Pradesh Sabha
fd) Assam Code :

118. Which one among the following is fa) A B D

the nearest from the ‘“Zero Mile 2 4 1 3
’ ia?

Centre’ of India’ b A B C D
fa) Taj Mahal 2 1 4 3
{b} Charminar fc) A B C D
fc) Gateway of India 3 4 1 2
{d} Victoria Memorial d) A B C D

3 1 4 2

119. Which one among the following

statements is not correct? 121. Who among the following had written

fa) The plane of separation to the Viceroy, “The Congress is as
between the crust and mantle much opposed to victory for Nazism
is known as Mohorovicic as any British can be, But their
discontinuity objective cannot be carried to the
) extent of their participation in
{b) The mantle contains more than N
. ) the war”?
two-third of the total material
mass of the Earth fa) Jawaharlal Nehru
c) The mantle is composed of the {b) Mahatma Gandhi
heaviest materials of the Earth
] {c) J. B. Kripalini
{d} The inner core of the Earth is

in solid state

Q-DQG-M-HBJ/35A
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116. f=fafea d & #9-@ & awdEm T 120. -1 = gHA-11 8 gafoa #ifm ok

Jeem ge | o) 1 dmnad | o 87 gt & 9 2w o Fe w1 @ W ad
- Wﬁﬁ'&:
{a) HETIRT
(b) BHETE -1 HEi-11
() T (=atw) (wmaT)
(d) =rad A. g fag 1. ®hM
B. @t weeme 2. e s
117. Fmfafad § § #R-m @ TR 75T 39 ﬁqi%m s
Tl A=rig el @ e R?
. C. Sfio Fo M@ 3. ;ﬂ;g%m?;g{ﬁm
(b) Tt e D. o We T 4. siel el FeEm
(c/ ITEVITIE] W&Wl EoEg
d
(d) 37EH —
118. f=fafiga # 9 #9-wr 7% wrE % 303 @ A B D
fia 07 % fean 27 2 4 1 3
fa) dlsiHEcd (b} A B ¢ D
2 1 4 3
{b) =HHT
g A B C D
fe) AR s e 3 4 1 2
(d) Tariten aaifee d) A~ B C D
3 1 4 2

119. f=fafad waa 0 9 #9-w v wdh 121, =i @ fred aeeE € o an, sl

2v

fa) T @ wER & = gumw-ad
F dzdfafas sdas F w9 9 S
S

(b AT gedt * Fer Hifow FoAM
A -Tagrd 4 stfes & o B

fc) TR Qe % TEam qerel § waf B
(d) Ge 1 ATaTEw B 3 ST R

Q-DQG-M-HBJ/35A
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asftare S| F I @ e & e
& &5 oft fafew 2 wwen 31 S 370
™Y ge H I wewiiE H W a9
gt & s W Ewar 7

(a) SETEEATA EE
{b) HETEHT TER
fc) Jo Eﬁo
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122, Which of the following statements

about National Green Tribunal
isfare correct?

1. It is a specialized body
equipped with the necessary
expertise to handle environ-
mental disputes  involving
multidisciplinary issues.

2. The Tribunal shall be bound by
the procedure laid down under
the Code of Civil Procedure,
1908,

Select the correct answer using the
code given below.

fa} 1 only

fb} 2 only

fcj Both 1 and 2
{d} Neither 1 nor 2

123. Consider the following about the

initiatives taken by the Government
of India with regard to total
sanitation campaign :

1. Implementation of Nirmal

Bharat Abhiyan scheme

2. Encouragement of the use
of bio-toilet facility developed
by DRDO on bio-digester
technology

3. Making toilet construction
mandatory for every household

Which of the above is/are correct?

faj 1,2 and 3
fb} 1 and 2 only
f¢/ 2 and 3 only
fd} 1 only

Q-DQG-M-HBJ/35A
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124. On June 2012, about 40 nations

participated in an Investment
Summit held in New Delhi
organized by the Confederation of
Indian Industry in association with
the Government of India to attract
foreign direct investment to a
country. Which one among the
following is the beneficiary country?

fa} Afghanistan
(b} Nepal
fc) Bangladesh

{d} India

125, Consider the following statements :

1. Vliadimir Putin took his oath of
office in May 2012 as the
President of Russia for the
third time defeating Dmitri
Medvedev.

2. Mr. Putin has been facing
unprecedented challenges after
mass protest against his
election.

3. Dmitri Medvedev was the
Prime Minister of Russia
during the presidency of
Mr. Putin.

Which of the statements given
above is/are correct?

faj 1, 2 and 3
fb} 2 and 3 only
fej 1 and 2 only

fd) 1 only — -

-~

~y L
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122. T gl stfawo & i § Feafafea 8

T B-91/4 woE wE B /E7

1. =z =g-Ferm gE e wlaoie
fqamdl & wmae & f AETEE
fagtosar @ wfem frodra fm 2

2. 7 iR, fefaw wfwan gfear,
1908 ¥ w7 syftrerfsra franfaf
s g

fr9 few mUoge w1 wEE e wE IW
ER

fa) HEA 1

{(b) Had 2

fc) 132 M
[dy Fd 1T A2

123. 0 w=gal JfEH % g 1 9Rd auEl

T fFu U Suwme 5 9§ fefafaa
W foem Fifsw

1. fdw gma sy’ afsm o=
FE=IT

2. DRDO 3@ Sg-wwfam  (Imn-
erwER)  drnfd W fafaa
ST-THA % IYEIT h) GiedTe 2q

3. TRF T % fu v fE 6
HTHAH=h FA4TKT

I T W RM-T/T wd /87
(a) 1,2 33

(bj HFA 1 AT 2

{¢) Thae 2 AT 3

(d) a1
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124, 53 2012 § @7 40 [P A, WRAA

IT 9iE g AT |UERE o+ W1 (e
% fegl 7 e few firee gt 4 sm
forn afs ot 2w & o foesft oeaed
tram sl fe w1 g% Tafefaa 4
T F-U1 9% eTH-TTHFA] <9 &7

fa) STRITES
{b) AT
fc) AR

(dj T

125. frafafgs s w fo=mm s

1. =enfaf gfes 3 efiefl feate &
T §C dEl 9 T F U *
&4 A 93 2012 H 39 9g it Iy
il

2. ot gf s fratem * favg ¥9-

fatiy & avaq e gl W
I W R R

3. &bl Azaee, oft gfem & ot &=
F SN FH &+ WA= 9

39wt § A FE-T/A g 2R

(@) 1,233

{b) Fae 2 AR 3
{c) A 1 AT 2
[d) FFA 1 =<

—_—
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WS GF IR Tg gheror gitaet Wie & 7 el WU 99 9% 3 @iel

A5t @Y. Q-DQG-M-HBJ giteror gieaent A
ORIIUT giedent
qrETT TEat TS Fhgwal
awg ; | "ue quiish : 250
qFFIw

1. ofen wow g1 & %A 1@, A9 39 ghe gitae €1 ugare seva o @ fF 3w w6 T oewm, s
1 T ZIN Y¥ el WAw IR 7w Al v R, @ 3@ wd v gieer @ =g whitanl
2. o WA @ 5 OMR swi-uaa: &, Ifum tom w, i@ T 3w gfes g+ A, B, €@
D w1, \wA | e fam fadt g o Renfa & a3 el eag +0 6 e sefieaw & 3 et
ot yEr g /ety 6 afy § sw-mas m = B s
3. 39 wiiym g W oo § oo wmw ® oame a
AT T 31 wligw gt wosin g9 A R
4, 38 T g § 125 v () fmomg #) weis e fet ofi aneh 2t A B R wels wedi
TR e (3W) fo g §) 7§ oF yeg g9 o, TR o Ie-maE wosifEa e = ) afe e
T o 6 O st Tore g ¥ A 3w v i dfEa w S sl Hdtan @) wers g o+ fam
A TF @ T T 2
5. s gY oft Togw oo # fu mu 3m-gaw W@ oifFd e #) I | fan o AR dfaw
6. At T F I wHE
7. 30 e % o whew g % fafim T ¥ gRget TW-TE W OAET FO OE R, A TE
-G % Ay WA rqenl F AER g fHam yeww q A g
8. T FT Wl WU W IW-TEF & W F 99 a9 7l F HUG W AW - farw A iy 4
SAGR 39 |19 ghee gfeasw o 9 A aFefa g
9. %= ®W F foru wF whao ferm F = A gom g1
10. wem 3wl & fom 2vg .
aegiE Te-us & Iufigan 3 R o rem sw & o e R s
(i) T I ¥ forg an dwfeis am §) Iwfgan 3o wes uw % fore fi e o e W % few e g
i fopy my et w1 um-TaerE 2vs F w ® wr Swm
(i) oR ¥ sfiean ok ¥ i 3 4 B, @ W wew wwe W S, Fafy fuong sl A 4w Iwm
grar &, f oft 3y oy ¥ foe sudwgan @ @ aw W zve fen s
(iii) af2 Iefiear go Y uw e el RRn S 8, atuiq Ieflean g0 3w A Ren S B, @ 3w e & for
wrE gug 7@ e wmom)

mmmﬁﬁwgﬁm@aﬁaﬁqmmﬁ@
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